FUBAG

SJIEKTPOCTAHIIUA BS 17000 DA ES (IHA®DP 641058) renepaTop

; N
N
b,

~

Ry

MO3ULIUA KOJI HAMMEHOBAHME KOJI-BO
1 100121352-0004 OIIOPA OCH KOJIEC 1
2 100011452-0003 TAMKA M6 2
3 100021127 OIIOPA 4
4 100010889 LIAVBA D12 1
5 100008893 KPAH TOIUIMBHBIN 1
6 100756542-0002 TOIUIMBHBIN BAK 1
7 100010439-0002 LIABA (6.5x2x25) 4
8 100011268-0003 BOJIT (M6x25) 4
9 100747029-0001 TTAHEJIb 3AILIUTHASI 1
10 100747027-0001 TAHEJIb 3ALIUTHAS 1
11 100091754 KPBILIKA TOIJIMBHOI'O BAKA 1
12 100059920-0001 DUKCATOP 1
13 1Z2FDF153 JIBUTATEJIb GB1000 1
14 100011070-0001 TANMKA M10 2
15 100144786 OIIOPA 7
16 100018712 BBOJ| KABEJIbHbII 1
17 100091066-0003 OCHOBAHUE PAMBI 1
18 100011335-0002 BOJIT (M8x60) 4
19 100011309-0002 BOJIT (M8x14) 4

20 100011261-0004 BOJIT (M6x12) 24
21 100088649 KPBIIIKA AJIbTEPHATOPA (IIEPEJHSIST) 1
22 100011379-0001 BOJIT (10x1.25x25) 4
23 100098566 AJIbTEPHATOP B CBOPE (POTOP+CTATOP) 1
24 100072641 LIABA (12.1x2x36) 1
25 100010888-0002 LIAMBA D10 8
26 100098834 BOJIT (12x1.25x310) 1
27 100088648 KPBILIKA AJIbTEPHATOPA (3AJHSIST) 1
28 100011390-0001 BOJIT (10x1.25x225) 4
29 100011455-0002 TAMKA M12 2
30 100135148-0003 KPBILIKA TOPLIEBASI 1
31 100010488 LIAMBA (17x2x26) 4
32 100757757 [LJIAHT TOITJIMBHBIN (6.3x12.5x165) 1
33 100756543-0002 PAMA 1
34 100011270-0002 BOJIT (M6x30) 2
35 100010820 LIATBA (10.5x20x2) 2
36 100132091 TIPOBOJI 3A3EMJIEHUS 1
37 100010920-0002 LIAMBA D6 2
38 100010886-0004 LIAMBA D6 2
39 100091076 OIIOPA AJIbTEPHATOPA 4
40 100146108 OIIOPA AJIbTEPHATOPA 2
41 100011353-0001 BOJIT (M10x25) 2
42 100749931 TPUIICA PYUKU 6
43 100020691 OIIOPA PAMBI 2
44 100062546 TUIACTUHA 2
45 100005136 3AKKUM TOIUIMBHOT'O IIJIAHTA 2




46 100066560 KOJIECO 2
47 100011456-0003 TAHKA (M10x1.25) 14
48 100010462 LIAMBA (10x2x30) 6
49 100161367 DKPAH 3AILUTHBINA AKB 1
50 100011264-0003 BOJIT (M6x16) 2
51 100061121 PEC'YJIAITOP HAITPSDKEHISI 1
52 100146668-0004 OCb KOJIEC 1
53 100746999-0001 TTAHEJIb YIIPABJIEHHS 1
54 100130291 [IPOBO/ () 1
55 100021368 BOJIT 2
56 100072023-0005 [UIACTUHA KPEIUIEHUS AKB 1
57 100125680 AKB 1
58 100091753 [IPOBO/L (+) 1
59 100010828-0002 TANKA M6 1
60 100011421-0003 TANKA M6 1
61 100128826-0001 LIANBA D6 1
62 100747006-0001 PYUKA 2
63 100747005-0001 PYUKA 1
64 100756544-0002 TTAHEJIb PAMBI 1
65 100008220-0001 LIABA 8
66 100011311-0005 BOJIT (8x16) 3
67 100747031 TETUION30JISALS 1
68 100010912-0002 LIAIBA D10 4
69 100011430-0002 TAHKA (M10x1.25) 4
70 100032849-0001 3AKUM 1
71 100099637 BOJIT 1
72 100011381-0002 BOJIT (M10x1.25) 2
73 100751804 BUHT (M6x10) 1




SJEKTPOCTAHLMSA BS 17000 DA ES (641058) nuratean GB1000

Nno3unn Koa HAMMEHOBAHUE

1 100078391 TPYBKA TOIIJIMBHAS (9.5x17.4x136) 2
2 100004087-0001 OUJIBTP MACJISIHBII 1
3 100004048 ITATPYBOK 1
4 100011267-0003 BOJIT (M6x22) 26
5 100011248-0003 BOJIT (M5x10) 1
6 100010498 IIAWBA (5.3x1x10) 1
7 100053223 COEJIMHEHUE TPYBKU 2
8 100053642 IIAMBA (10.5x2x18) 2
9 100053326 3AXNM TOIUVIMBHOU TPYBKI 4
10 100078367 PAJIUATOP MACJISIHBIN 1
11 100011274-0002 BOJIT (M6x45) 1
12 100078402-0001 JIE®JIEKTOP I'OJIOBKM BJIOKA IIMJIMHAPA 1
13 100011265-0003 BOJIT (M6x18) 11
14 100078397 KPBIIIIKA 1
15 100148836 ITPOKJIAJIKA 1
16 100010278 BOJIT 1
17 100010474 IIAMBA (14x1.5xD22) 2
18 100011556-0002 BOJIT (M8x50) 14
19 100052264 JATUUK JABJIEHUS MACJIA 1
20 100063438 ILIAMBA (10.5x1.5x18) 1
21 100126342 KPBIIIIKA KAPTEPA 1
22 100078422 CAJIBHHUK (42x60%x7) 1
23 100010117 KOJIbLIO YIUVIOTHUTEJILHOE (11.2x2.65) 2
24 100148832 TTPOKJIAJIKA KAPTEPA 1
25 100010549 HITUDT (8x12) 2
26 100079052 KOPITYC MACJISIHOI'O ®UJIbTPA 1
27 100010937 IIAPUK CTAJILHOM D9.5 1
28 100004032 TTPYXXMHA MACJIIHOI'O HACOCA 1
29 100077119 TTPOKJIAJIKA MACJISIHOI'O HACOCA 1
30 100010547 IUITUDT (8x8) 2
31 100077120 HACOC MACJISIHBII 1
32 100077459 LIAMBA (45.5x1x63) 1
33 100120746 KOJIEHBAJI B CBOPE 1
34 100010577 IITTOHKA KOJIEHBAJIA 1
35 100094366-0001 LL[YTT MACJISIHBIV 1
36 100148829 PACIIPE/IBAJI 1
37 100159611 JIATUUK TEMITEPATYPBI 1
38 100086236 IIAMBA (20x1x30) 1
39 100747725 KAPTEP 1
40 100148824-0001 TTIPOBKA MACJIO3AJIMBHOU 'OPJIOBUHBI 1
41 100078407 KPBIIIKA I'OJIOBKU BJIOKA [TUJIMH/IPA 1
42 100077118 TIPOKJIAJIKA KPBIIIKHU 'OJIOBKU BJIOKA LIUJIMHPA 2
43 100075655 KOPOMBICJIO B CEOPE 4




44 100096771 BAJI KOPOMBICJIA 2
45 100077458 TOJIKATEJIb 4
46 100004589 KOJITAYOK MACJIOCHEMHBIN 4
47 100004576 CYXAPH 8
48 100004516 CEJUJIO TTPYKUHBI KJTATTAHA 4
49 100004571 TTPY)XMHA KJIATTAHA 4
50 100004602 KOJITAYOK MACJIOCHEMHBIN 4
51 100009379 CBEYA 3AXWUTI'AHUA 2
52 100002469 BOJIT (M10x1.25x65) 10
53 100096815 IIIMHIJIBKA (M8x38) 4
54 100097840 HITUPT KOPOMBICJTIA 2
55 100148826 I'OJIOBKA BJIOKA HWJIMHJIPA 1
56 100077313 TTPOKJIAJIKA TOJIOBKH BJIOKA TUJIMHJIPA 2
57 100010562 HITUDT (12x20) 4
58 100087302 KJIATIAH BBIITY CKHOM 2
59 100087303 KJIATIAH BITYCKHOM 2
60 100004268 TOJIKATEJIb 4
61 100127368 HABOP ITOPIIHEBBIX KOJIEIT 2
62 100003225 KOJIBIIO CTOITIOPHOE ITOPITHEBOI'O TTAJIBIIA 4
63 100143102 TTAJIEL] TTOPIIHSA 2
64 100003104 TTOPIIEHB 2
65 100075654 ITATYH B CEOPE 2
66 100011261-0004 BOJIT (M6x12) 5
67 100079508-0001 BOJIT (M8x14) 3
68 100078360 KPOHIUTENH TOIIJIMBHOIO HACOCA 1
69 100160639 HACOC TOIUIMBHBIN 1
70 100077462 IIAMBA (20x4.5x50) 1
71 100060984-0001 TAMKA (M20x1.5) 1
72 100084272 LLJIAHT TOIIMBHBIN 1
73 100005138 3AXUM 2
74 100088284 LLIJIAHT TOIIMBHBIN 1
75 100000671 3AXUM 2
76 100126285-0001 TPYBKA 1
77 100747724 BBOJ| KABEJIbHBII 1
78 100062546 3AXKUM 1
79 100063313-0001 BOJIT (M10x1x10) 1
80 100021845 LIAMBA 1
81 100011286-0002 BOJIT (M6x110) 4
82 100078363 KOJIJIEKTOP BIIY CKHOWM 1
83 100077832 TTPOKJIAJIKA BITYCKHOI'O KOJIJIEKTOPA 1
84 100748768 KAPBIOPATOP 1
85 100747727 KI'YT ITPOBOJIOB 1
86 100077314 ITPOKJIAJIKA KAPBIOPATOPA 2
87 100078361 N30JISITOP 1
88 100011463-0002 TAVKA M6 2
89 100078395 KPBILIKA 1
90 100155452 3AXKUM 2
91 100078408 TPYBKA BITYCKHASL 1
92 100078399 IIITHIJIBKA (M6x80) 2
93 100077315 TTPOKJIAJIKA BITYCKHOI'O KOJIJIEKTOPA 2
94 100078390 KOJIJIEKTOP BIIY CKHOWM 1
95 100099125 ®UJIBTP BO3JIYILHBIN B CBOPE 1
96 100078365 ®UJIHTP BO3YIIHBIIA (TPYBOM OUYHUCTKH) 1
97 100078681 ®UJIHTP BO3JYIIHBINA (TOHKON OYMCTKH) 1
98 100090931 ITPOKJIAJIKA BO3JIYIIHOI'O ®UJIBTPA 2
99 100077455 KPOHIUTENH BO3AYILHOI'O ®UJIbTPA 1
100 100081906 3AXHNM BO3AYIIHOI'O ®UJIBTPA 2
101 100011269-0003 BOJIT (M6x28) 4
102 100099003 OUJILTP BO3AYILIHBINA B CEOPE 1
103 100097279 OITOPA JIBUT'ATEJISA 1
104 100141849 TJIYHIUTEJIb 1
105 100011453-0003 TAMKA M8 4
106 100149072 TTPOKJIAJIKA TJIYIIWUTEJIS 2
107 100011231-0001 BOJIT (M8x20) 2
108 100008477-0002 TAMKA M6 4
109 100078401-0001 JE®JIEKTOP I'OJIOBKU BJIOKA LIUJIMH/PA 1
110 100124466 TTPOBO/I KAPBIOPATOPA 1
111 100078406 KPBILIKA T'OJIOBKU BJIOKA IIMJIMH/PA 1
112 100148834 I'OJIOBKA BJIOKA HWJIMHJPA 1
113 100078404 KPOHUITENH (MOHTAXHbII) 1
114 100000568-0002 JIEHTA (L=150mm) 2
5

115

100011262-0003

BOJIT (M6x14)




116 100078304 KPBIJIBYATKA 1
117 100762151 JIATUUK MACIJIA 1
118 100757281-0001 BOJIT AJIb-TEPHATOPA 2
119 100098108 DJIEKTPOCTAPTEP 1
120 100127089 PEI'YJIAATOP 1
121 100010556 HITUDT (10x12) 2
122 100078403-0001 JIEQJIEKTOP I'OJIOBKHU BJIOKA ITMJIMH/PA 1
123 100010548 HITUDT (8x10) 2
124 100078396 TIJIACTUHA IPOCCEJISA 1
125 100148825 TTPOKJIAJIKA KPBILIKHM CAITYHA 1
126 100148828 CAIIYH 1
127 100078371 KPBIIIKA CAITYHA 1
128 100077461 ILJIAHT TOTIMBHBIN 1
129 100088176 MOJYJIb 3AXKUT'AHN 1
130 100078769 3AIIUTA KABEJIS 2
131 100011271-0003 BOJIT (M6x35) 4
132 100077460 IIIMHIJIBKA (M8x133) 4
133 100086231 CAJILHHUK (42x60x7) 1
134 100747726 KATYIIIKA 3APSJIA AKB 1
135 100011533-0005 BOJIT (M6x22) 4
136 100088175 MOAYJIb 3AXKUT AHU S 1
137 100078359 MAXOBHUK 1
138 100099217-0001 KOPITYC B CBOPE 1
139 100078303-0001 KOPITYC KPbUUIBYATKU JIBUT'ATEJISL 1
140 100078398 AJIATITEP PEIIETKUA KPBUTbYATKU 1
141 100078317 PELIETKA KPBUJIBUATKA 1
142 100011253-0001 BOJIT (M5x20) 4




FUBAG SJIEKTPOCTAHLIUS BS 17000 DA ES (LIUDP 641058) nanens ynpabjieHust
14
13
9
]
)
10

/]

()

O

1
TO3ULIUU KOJ[ HAUMEHOBAHUE KOJI-BO

1 100020028-0001 PO3ETKA (16A 250V) 1
2 100020024 PO3ETKA (16A 220-240V_380-415V) 1
3 100020026 PA3BEM JIJIS BIOKA ABTOMATUKU 1
4 100750958 JUCIUIER 1
5 100750957 3AMOK 3AKUT' AHUSA 1
6 100750959 TIEPEKJIIOYATEJIb 2
7 100750962 ABTOMAT 3ALLUTHI (16A) 1
8 100750961 ABTOMAT 3ALLUTHI (16A) 1
9 100751025 ABTOMAT 3ALLUTHI (30A) 1
10 100062035 KJIEMMA BUHTOBAS 3
11 100062047 KJIEMMA BUHTOBAS 1
100011421-0013 TAKA M6 2
100011025-0001 LIAMBA D6 1
12 100010920-0002 LIAMBA D6 2
100010886-0004 LIABA D6 2
100011268-0003 BOJIT (M6x25) 1
13 100032390 HH/IUKATOP 1
14 100032389 JIAMITA CUTHAJIBHAS (MACJIA) 1
15 100750971 [TAHEJIb YIIPABJIEHU (IIJIACTUHA) 1




	641058_ kartshema_1
	641058_ kartshema_2
	641058_ kartshema_3

